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QUESTION 1 
You are deploying new GbE2 Interconnect Switches, both still configured with factory 
default settings. You need to reconfigure the setting to match your network infrastructure. 
You connect to switch A through the external uplink port 19, but your attempt to activate 
the GbE2 Remote Management IP interface fails. What is the cause of the failure? 

 
A. the crosslinks are enabled by default, causing infinite loops between the interconnect 
switches 
B. the GbE2 Remote Management IP interface is disabled by default 
C. the spanning tree protocol is disabled for VLAN 1 
D. the uplink port 19 is not added to the default VLAN 1 

 
Answer: B 

 

 
QUESTION 2 
How many server bays are available in an HP p-Class server blade enclosure? 

 
A. 8 
B. 12 
C. 16 
D. 20 

 
Answer: A 

 

 
QUESTION 3 
You have an original server blade enclosure fully populated with server blades. You need 
to provide power redundancy to those blades. What is the correct configuration? 

 
A. one fully populated power enclosure; server blade enclosure side A connected to 
power enclosure side A 
B. two fully populated power enclosures; server blade enclosure side A connected to side 
A of both power enclosures 
C. one fully populated power enclosure; server blade enclosure side A connected to 
power enclosure side A; server blade enclosure side B connected to the power enclosure 
side B 
D. two fully populated power enclosures; server blade enclosure side A connected to side 
A of power enclosure 1; server blade enclosure side B connected to side B of power 
enclosure 2 

 
Answer: C 

 

 
QUESTION 4 
Which technology is required to eliminate loops in bridged networks? 

A. Identity-Based Networking Services (IBNS) 
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B. Port trunking 
C. Spanning Tree Protocol (STP) 
D. VLAN tagging 

 
Answer: C 

 

 
QUESTION 5 
Which software packages make up the HP ProLiant Essentials Rapid Deployment Pack? 
Select THREE. 

 
A. Altiris Deployment Server 
B. Automation Manager 
C. HP BladeSystem Integrated Management 
D. Integrated Lights-Out Advanced 
E. ProLiant Integration Module 
F. SmartStart Scripting Toolkit 

 
Answer: A,E,F 

 

 
QUESTION 6 
What is the correct choice of HP management software to provide these capabilities? 
- A common enterprise platform for hardware and service level management 
- Multi-vendor systems management 
- In-depth hardware lifecycle management 
- System software version control 
- Hardware status and fault management 
- HP BladeSystem support 

 
A. HP OpenView Operations for Windows 
B. HP OpenView Operations for Windows integrated with HP OpenView Network Node 
Manager 
C. HP Systems Insight Manager 
D. HP Systems Insight Manager integrated with HP OpenView Operations for Windows 

 
Answer: D 

 

 
QUESTION 7 
What is the maximum number of ProLiant BL30p server blades that fit into a 42U rack 
with redundant power configuration? 

 
A. 72 
B. 80 
C. 92 
D. 96 

 
Answer: B 
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QUESTION 8 
Which hardware information file must you use in the RDP 1.60 deployment job to have 
ProLiant BL20p G2/G3 server blades boot Red Hat Enterprise Linux AS 3 from SAN? 

 
A. bl20p-a.ini 
B. bl20p-h.ini 
C. linux-h.ini 
D. pl-bfs.ini 

 
Answer: D 

 

 
QUESTION 9 
You need to provide the maximum network bandwidth between each GbE2 Interconnect 
Switch and the production network by trunking the external GbE2 Interconnect Switch 
ports. What is the maximum network bandwidth that can be achieved with each trunk? 

 
A. 2Gb/s 
B. 4Gb/s 
C. 6Gb/s 
D. 8Gb/s 

 
Answer: C 

 

 
QUESTION 10 
When is it required to use a load-balancing signal cable? 

 
A. When using facility DC power. 
B. When using three-phase A/C power. 
C. When two power enclosures are connected to a scalable bus bar. 
D. When two power enclosures are connected to server blade enclosures using power bus 
boxes. 

 
Answer: C 

 

 


